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Number Systems 4wed Jf Lakii¥/

Decimal Number System s_sdelf oLBil/ -1

m@qm‘giz(g)w;si@g\@weuﬁmi(o —Pg)aﬁ‘)i'é‘)ﬁcwew\ 128y oSy
Bl Al Al e aaing 5 (10) a80 52 5 alaill 138 (gl 5 A8,

Example 1 :- ( 8231)y
= 8x10°+2x10%+3x10™+1x10°
e o ssing A8l S 13 L
Example 2:- (354.312)9
=3x10% + 5x10" + 4x10° 3x10™" + 1x10% +2 x10”
Binary Number System ALl L&l -2
(2) Al sa alaill 38 ulal s (0, 1) ool o ading 53l allaill 8
Binary to Decimal Conversion el alhlll Jf ULl alBilf ho fygaill]-2

Example 3 :- (1011.1011), —» (11.6875)4,
= 1x23 4+ 0x2% + 1x2 4+ 1x2% 1x27+ 0x22 + 1x23 + 1x27*
=8+0+2+1 . —+0+-+—

8 16
=11.6875

Decimal to Binary Conversion =il alBdl I ¢ diad) alBll) (ya i gadl) 2-2

31l (0) sl I daat s (2) AN alail) el e 3 il 28 )91 sty dleal) 230 o3
oY Y (e Al (e B

Example 4 :- Convert (95);0 —» (10111111 ),
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(1011111) s AU Al 8 50 0 S
g AL (a5 2yl i

27 2° 2° 2* 28 22 2! 20
................... 128 64 32 16 8 4 2 1
1 0 1 1 1 1 1

Al sa A 5 albaill (ulal 84y puzmi g5 ) LAl ey o3 ) 2al 4 el 5 LAl 2 e g Al

D e (e L i 433 0 IS 8 uall Jeals (e Al Slae ) 235 (2)
Example 5:- Convert (10.375);0 — ( 1010.011 ),

Sl sl N algaig 10 aaedl 336 Y

2110 0
215 1
2|2 0
21 1

0

3l 2xy ga (Al 5 ((375) =l 38U & g

2 x.375 0 .750
2 x.75 1 .50
2 x5 1 .0

el 2l 5835011 058 Ja) N eV (e dasaall o8 )Y) 28l
(10.375);0 —»(1010.011 ),

Octal Number System ALedll LA -3
L (8) AN 5 allaill 138 (lad 5 (0 ——>7) 0o 1 a8 el (g0 allaill 1 (555
Conversion of Octal to Decimal gdall alhill A Laill slb (o Jigaill [-3
Example 6:- Convert (1720)s — ( 976 )y
= 1x8% + 7x8% + 2x8" + 0x8§°
=512+448+16=976

5 al) ULl (976) o M) alidy Ll Allailly (1720) oM Of (e 130 5




Example 7:- Convert (50.50)g — ( 40.625 )y
= 5x8" +5x8° . 5x8" + 0x87 =40.625
Conversion of Decimal to Octal =~ ~laill alhlll I g izl albillf (ya i gail) 2-3

Example 8:- Convert (950);0— ( 1666 )g

8950 6

8118 6

8|14 6

8|1 1
0

Example 9 :- Convert (10.23 )30 —> (12.165);

Sl aUaill YAl gai 310 2aedl 3306 Y

810 2
8|1 1
0

304N ey g2 A5 (123) ) 22l A

8 x.23 1 .84
8 x.84 6 .72
8 x.72 5 .76

Conversion of Octal to Binary =Ll alilll b itelll slBill (e Ly sadll3-3
o LSy Al ol A iy O S By S8 68 ] Ailal e (58 el QUi il Ly

000
001
010
011
100
101
110
111
I Uil ALl Le ) aly 5 6, JS 330 585 sl

Ay yhall ity Jiaid 3 Ul ey Ao ) A8 Y 5 5 ) ellia il 1) - dbadle

~NooobhowpNdE O

Example 10:- Convert (376.34 ) — (011111110.011100);




Conversion of Binary to Octal ~telll alhllf Jf <Ll 2B he fysaili4-3
S ) S e gl dland duSlaa 385 play L) 1) D (e i sail dlee o5
Example 11:- Convert (10101011.1101 ), —» (253.64)g

sy 20 el el (pas 5,80 0 aaall Aoy Sl I Cpaadl) (g A8 51 2 JS 32k K5 48
(5 il aUailly 68 ) JS Jilay e (g2 (0) pBN0 JaSip 35 04l

010 101 011. 110 100
2 5 3 6 4

Hexadecimal Number System e udldd) oLl -4
olls (ABCD E and F) s sl JaSis (0 —»9) (e i ( 16) e alaill 12 ¢ oSy
. (16) Al sa alaill 13

Conversion of Hexadecimal to Decimal el alblf Jf jude utlesl) slbilf po Jygaill]-4
Example 12 :- Convert (2DF )16 — (735 )1

= 2x16* +Dx16" + Fx16°

=2x16% +13x16 + 15x16° =735
Conversion of Decimal to Hexadecimal =~ & (wutlewdf alBllf I (5 pidiad] alBlf (10 s g2il)2-4

Example 13:- Convert (423)y — (1A7 )16

16 | 423 7
16 | 26 10> A
16 |1 1

0

Example 14:- Convert (23.23 );g — (17.3AE)

e (bl sl N4l ai 523 aaell 32l Y

16 | 23 7
16 | 1 1
0
8l xy ga (Al 5 (123) 2aal 23U a3 (ha g
16 x .23 3 .68
16 x.68 10 .88

16 x .88 14 .08




e paaladl sl 3 E Cajall (14) 2aall 5 A Ciall (10) 22e)l Jies

Conversion of Hexadecimal to Binary =t alilll Jf ude (pudbel) slBL) 3o fi 52l/3-o

0000
0001
0010
0011
0100
0101
0110
0111
1000
1001
1010
1011
1100
1101
1110
1111

TMUOW>oOoNou~WNEO
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Example 15:- Convert (3FBE.A6 ); — (0011111110111110.10100110),

Conversion of Binary to Hexadecimal _wie (udled allilll A AU sLELS (1o Jygaill 4-4

Example 16:- Convert (1011010011110.11011101), ——» ( 169E.DD)y
000(1 0110 1001 1110. 1101 1101)
1 6 9 E D D
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Binary Arithmetic (Uil sbiily dudly Jf Slulael/

Addition gaat/ Ludee -1

(0 ,1) i Lpal 2Ll 13 (<15 4 el Sae Y1 Ly gand il Ay ylall (il Alall o3 i

Sum  Carry
0+0 = 0 O
0+1 =1 0
1+0 =1 0
1+1 =0 1
1+ 1+1 =1 1
Example 1:-
11001
+ 11111
111000
Subtraction gkl 4des -2
Diff Barrow
0-0 =0 O
0-1 =1 1
1-0 =1 0
1-1 =0 0
Example 2:- Example 3:- Example 4:-
111 1110 1000
-101 - 1101 -0001
010 0001 0111
Multiplication ¢l Ludes -3
0*0 =0
0*1 =0
1*0 =0
1*1 =1

Example 5:-  Multiply (101.1)*(11.01) =(10001.111)




1011
*1 101
1011
0000O
1011
+ 1011
10001111
Division 4ewdlf Lulec -4
0+0 =0
0+1 =0
1+-0 = o
1+1 =1
Example 6:- Divide (10001) + (10)
1000 1
10 |11 0000
10
000010
1 0
0 0
-:Octal Arithmetic (laill alhilf 4 Lol Jf Cilodarlf
Example 7:- Example 8:-
7 4 73
+ 6 3 + 56
157 151
Example 9:- Example 10:-
4 6 5 55
-3 77 - 47
0 6 6 6
-:Hexadecimal Arithmetic e gl alhilll 4 sl ) Sililar)]
‘)52'29 wdwffw/gjédaﬂ -1
Examplell:- Example 12:- Example 13:-
E 3 8 F6B FF
+7 A9 + 275 + BA
15 E1 11E0 1A9




e wdwlﬁw/égcﬂ/ =2

Examplel4:- Example 15:- Example 16:-
B 7 C 3 8 A

- A6 - A6 - 6 E
11 1 D 1C

Binary Coding 4wl 4/ ssY/

1- Binary Coded Decimal (BCD)

0000
0001
0010
0011
0100
0101
0110
0111
1000
1001

Example 17:- Convert ( 32 .48 );0— (00110010.01001000)gcp
Example 18:- Convert ( 01110001 .00011000 )scp —* ( 71.08)10
Jsnd oy s g piad LT )y gty s (S oLl ) BCD Ui (ye sl -: Al

A I g

Example 19:- Convert (00110000011 .0101 )gep —* (101101111 ),

Ay ylay LN QUail) ) sl J a5 (183.5) 10 s il ) () 5K (o il alail) ) ol g
Julssl)

O©ooO~NO Ok WwWNE O

183
91
45
22
11
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Example 20:- Convert (10001010.101), —» ( )gcp

S s s pid) ) AL sl (pa B0 sad G Gl JUiall Slas dleall (o 5S5 Q) 128
BCD JI oUas

= 1x27 + 0x2% + 1321 + 1x2% 1x2 4 1x2°8
=128 +8+2 .05 +0.125
=138.625

BCD JI alaill ) &3l Jsad Eus (138.625)19 (s miadl aUailly o8 511 iUl (o 5S8
(000100111000.011000100101)gcp
2- Excess -3
(BCD + 3) 2l sa
(3) 4 alay; (BCD) 281 (adh Jiray (g
Example 21:- Convert (0100.0000 )gcp —»  (0111.0011 )xs3

BCD  0100.0000
0011.0011
XS3  0111.0011

Example 22:- Convert (62 )10 —» (10010101)xs3

Decimal 6 2
+3 3
9 5
XS3 10010101
oAl Ay Hhy

Decimal 6 2
01100010
+ 00110011
XS3 10010101
Decimal ! XS3 (e Jasaill

Example 23:- Convert (10001100 )xss —» (59)1g

XS3 10001100
- 00110011
01011001
Decimal 5 9




3- Gray

o deala e Sl S Q8 ) g ands LBy I3V 8850 Gray 2580 ) Binary il a8l e Jy gaill
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Example 24:- Convert (10110 )ginary —» (11101 )gray
<— Binary
<+«— (Gray
o il S 805 i Ry J5Y1 8 Binary S U Gray 258 (e gl eSlaall Jy sl
L 5 AN Q8 e AU U pes Jaala (el G Q8 5 SED Q8 e O V) &L pes diala
Example 25:- Convert (011011 )gray —> (010010 )ginary

<+— Gray

o< O
P <
= Sl
o< o

11
2
10 <«—Binary

Example 26:- Convert (10110011 )gay —» ( )xs3

Subtraction Using Complement <ileaial) sfisics 7~ bl

cend) Alae alasiuly Jag & lall Al ()8 Y 1A anatill Ay Jias Allall o8 Y1 200D 5 a8

For Decimal System 4o sdelf Laliily/

|
1

10 'S Complement bl aqiall
9'S Complement sl aial)

N
1

For Binary System <ulillf Lakiiy/

|
1

2'S Complement S aaidll
1'S Complement J Y adial

N
1

1- 10 'S Complement ilad) aalal)
- Lad g QUlls 2
-1l shadll () oS8 die g sl (e JB 2 shaall Q8 50 SIS - Ly st
e G Apleal) Qls -]

z skl a8 U kel aciall 22l 22
okl i s ALy il sy sl 8 AUl s o)) Jegy -3




Example 27 :- (89 - 23)

89
+ 77 Dkl aaiall

2 ol g W
il shadll () 558 aie 5 skl e S 5 skl 6 1) S 13 - Ll Lad

e ) Alead) Gl g = g laall Q850 kel aatall 380 -]
) il il aciall 22l 22
(Pl) (Nl 8,015 5L3) a5 -3
4- Example 28:- (49 - 62)

49
+ 38 D) aaiall

-13 0 s 87

1- 9'S Complement ilad) aalial)
- Laa s Lyl (ills aa
-t ol shadll () oS 4ia g shaall e JB 7 sdaall Q8 51 SISV - g s

e A el Gl g - 5 paall 8 11 alil) aaiall -]
el @ M (1) BN iai -2
£ B s () oS g il Sy sl 6 sl a1 Jagy -3
Example 29 :- (79 - 13)

79
+ 86 el aaial)
165
1 +
aal g Jega @T

< skl () S dia = 5 shaall (e S) g skl Q8 S 13 - Ll Llad)
e ) Aleal) Gl 5 = g jlaall 28 50wl aatall 336 -]
)zl i) aciall 22l 22
(H) Gl 85013 L8] paas -3
Example 30 :- (54 - 81)

54
+ 18 il aaial)

27 s esa 72
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General Form of Complement <lasialf dayy dalelf d4uall
1- A- For 10 'S Complement g\
dacia o) o sllaall a8 1) Jiag (N) 5 alaill Gebad (1 )a2edl il yall aae Jiag (n) s
Example 31:- find the 10'S complement for the following number:-
(23) 10%-23 =77
(52520)  10°-52520 = 100000-52520 = 47480
(25.639)  10°-25.639= 100-25.639 = 74.361
(0.23) 10°-0.23 = 1-23 =0.77
1- B- For 2 'S Complement r"—N
Example 32:- find the 2'S complement for the following number:-
(10110) 2°-10110 =64— 10110 = 1000000-10110 =0010100
(0.0110) 2°-0.0110 = 1-0.0110 = 0.1010
2- A- For 9'S Complement r"—r™ —N for (r-1) Complement
u.ul..ﬂ( r) 3 Wl aay daall () e 23e Jiay (M) 300 8 aaall Gl e 22e Sl (n) Sus
fasio dlag) o slladl o ) Jiey (N) 5 allad
Example 33:- find the 9'S complement for the following numbers:-
(25.639) 10°-107° — 25.639 =100 — 0.001 —25.639 = 74.360
(0.3264) 10°-10"- 0.3264 =1 —0.0001 —0.3264 = 0.6735
2- B- For 1'S Complement r"—r™-N
Example 34:- find the 1'S complement for the following number:-
(0.0110) 2°-2* - 00110 = 1- - 0.0110
=1-0.0001-0.0110=0.1111 - 0.0110=0.1001
L il
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For Binary Number Complement Only 4uliill ald 5 kié aaiall sy dals 4 b
(1) (0) Es5(0) (1) ISty Jo¥ aniall o Jpanll (e
Example 35:- 1011 A&l &0 0100 JsY) aaial
paidl 0101 = 1+ 0100 Js¥) paiall ils (M (1) M) Adlucaly U asial) e J gacanll Sy
P
Cilaaiall Moy dalad) diuall aliiiuly & bl
Subtraction Using General Form of Complement
1- For 10 'S Complement
e 7 5 hall (e ral &g el 68 - oY) Alads
Example 36:- Subtract (51 — 13) Using General Form of Complement
M —N=10"-13=87
51
+ 87 Dbl aaiall
aa) 5l Jage @38
ia 5 shall e 5S) g haall &8 1) —; il s
Example 37:- Subtract (320 —510) Using General Form of Complement
M —N=10°-510 = 490
320
+ 490 Al e
810
gl Ll adiall i o
M -N=10°-810=190
-190 058 (8l s () il 28505 5L ks
2- For 2'S Complement
dia 5 yhaall (e jraal & g skl a8l - Lg8) Ul
Example 38:- Subtract (1010100 — 1000100) Using 2'S Complement .
L il




1000100
¥l (0111011
+ 1 da) g Canal

S e 0111100
e U Alaall Qals 5
1010100
+ 0111100
() 0010000
0010000 glill ¢y sS8 i) Sl (ol (3 oalall (1) a5l Jagh o

dia s yhaall Ga S 5kl 8l - Al Al

Example 39:- Subtract (1000100 - 1010100 ) Using 2'S Complement

1010100
ds¥led 0101011
+ 1 da) g Caucal

(A il 0101100
e G Apleal) Gl o

1000100
+ 0101100
1110000

el 0 ) i s
1110000
ds¥leid 0001111
+ 1

#4 e 70010000
- 0010000 &5 8! rllas (I ) o8 15 53] s o

3- For 9'S Complement
dia 7 5 shall G jraal g skl Q850 o; g s
Example 40:- Subtract (510 — 320) Using General Form of 9'S Complement
M —r™ - N=10°-10"-320 =679

510
+ 679 e
f"“ S 1189
U by (ol A alall (1) a8l Jegd 5 @l (1) a8 Cipal o

1189
+ 1

s G180




dia 7 5kl (e 4S) 5 yhaall b8 ) - Ll Uad
Example 41:- Subtract (320 —510) Using General Form of 9'S Complement
M —r™ - N=10°-10°-510 =489
320
+ 489 Al e
809
M —r™ - N=10°-10°-809 = 190
—190 0sSe ¢g) Al (I 8l 8 1) 5 L) e o

4- For 1'S Complement
dia 7 5 hall (e raal & 5 yhaall Q8 - Ly dlad

Example 42:- Subtract (1010100 —1000100) Using 1'S Complement .

1000100

ds¥lesdl 0111011
o o el Ll 5

1010100

+ 0111011

10001111

2l I aal 5 Gl
10001111
1
(1)0010000

0010000 il ()5S ilill jlusy a3 sallal) (1) sl gl
e 75 ohadl e SI g ylaall o8 s Ll sl

Example 43:- Subtract (1000100 - 1010100 ) Using 1'S Complement

1010100
llesd 0101011
o G Addenl) s 3
1000100
+ 0101011
1101111
0553 ) Gl I il a8 )05 L) i a3 sl gl J5Y) aciall aai o

1101111
- 0010000







(LI 5 palaal) Aibis aracali

Logic Gates udhialf cilsfguff

Jadd sas g ) Al 5Ll ol LSty ST gl saal 5 Jlaa) 5 lal 5 ila e 5 ole A g

1- Not Gate (Inverter) st/

1Y (S A sl (i) Aaal) Jsan s Ll anl 5 71 jA) 5 Jadh asd g JU) I3 A4l 50 4 g

A A
0 1
1 0
2- AND Gate

Lon‘é_UalA\g#\%eﬂjkﬁéhbc\)sb‘ﬁsij\QALAJ\SJLS}A.B)S\J&:BJQQ‘;QJ

Y=A.B

N YN ==l
RO, Oty
R|Oooolx

3- OR Gate
LS 5 abiall qanll dleny o gy g i aa) g ) _a) g ST ) cullaal a3 Alaie 3 53y e 3 e A
- L?JL“\J\Z\AM\J};;L;AQ}M

A B Y
0 0 0 Y=A+B
0 1 1
1 0 1
1 1 1
4- NAND Gate

AND + NOT @l g e 3ke a5




ool
RlOR O
ol |k ik

5- NOR Gate
OR + NOT 4l s e 3oke 4

R lololx
RlOolRlolk
o|lo|lolr|x

6- Exclusive OR Gate

(1) st gz oaall ()5S Cpiline UIS 1315 (0) o sbon gz yialld dgilitia DA aall il 1315 jiall o324
O 1 [N [ PRV AOXS

Y=A+B

Rk lololx
RlOolR|lolt
olr|rlox

7- Exclusive NOR Gate

S s z oAl ()5Sl (ualiane WIS 131y (1) (sl 7 oaalld dgulite AL il 1315 jilall oda &
- Sl dddall Jsaa 8 LS (0)

Y=A+B

R |lolox
RlOolR|lo|k
ook~




Rules and lows of Boolean Algebra  (Abialf padly Ll syl il g 40/ 4

1- A+B =B+A Sl oy gild
A.B=B.A
2- Associative Low Los gilf oy gild

A+(B+C)= (A+B)+C
A(BC) =(AB)C

3- Distributive Low & ol
A(B+C)=AB+AC

Basic Rules of Boolean Algebra (bisl uadf Luulu/ il il

1- A+0=A

2- A+1=1

3- A.0=0

4- A.1=A

5- A+A=A

6- A+A=1

7- A.A=A

8- A.A=0

9- A=A

10 - A+AB=A
11 - A+AB=A+B
12 - (A+B)(A+C)=A+BC

Demorgan 's Theorem s g0 2 4 ki

Glaaiall £ gane = oy pdlf Juals aaia
Cladial) o ps Juala = £ parall aaio

v
>
&
I

N
+

]

e
S
+

™
Il

N
]

Example 1:- ABC =A+B+C

Example 2:-(A + B) + CD




Example 3:-(A + B)CD + E + F

(A+B) +CD.E.F

(A+B)+C+D.E.F
F

t

A.B+C+D.

Boolean Expression 4xibisl el

1- Sum —of — Product g plll pan

Example 4 :- AB+ BCD +BDE

2- Product-of — Sum Esxanl s

Example 5:- (A+B)(C+D+E)( E+F)




Simplification Of Boolean Expression 4uihialf uleilf fassd

- chbaiall el ey il 5 oyl gl 5 ae ) gal aladiuly dasel) dilae A3

Example 6:- Simplify the Expression
AB +A(B+C)+B(B+0)

AB +AB +AC+ BB + BC

AB + AC +BB + BC

AB + AC + B+ BC

AB + AC + B(1+C)

AB + AC +B

B (A+1) + AC

B+AC

Example 7:- Simplify the Expression
[AB(C + BD) + AB]C

[ABC + ABBD + AB]C

[ABC + AB]C

ABCC + ABC

ABC + ABC

BC(A+ A)

BC.1= BC

The Karnaugh Map <L cithbia

By s gall Ol paiall 2ae e ladde 8 2aiad WAL (e de ganae (o 893S Slaladia () oS5
Sl aiall dae Jiain 5 WA ae Jia N dus N = 2" dald

s JKAL s WA 4 K802 A B Gsidiall Cagi IS cillalad -]

N
0 | AB° | AB*
1 | AB?| AB?®




Example 8:- Represent The Following Function Using Karnaugh Map
F={1,2} F=AB + AB
N, 1
0| “|1°
1] 1°] °

sl a8 8 2° A B, C e OB 3 Cagi S cillalada -]
S 00 01 11 10
O |ABC°|ABC'|ABC®|ABC?*
1 | ABC*| ABC® | ABC "| ABC ®

Example 9:- Represent The Following Function Using Karnaugh Map

F=%{1,257} F=ABC + ABC + ABC + ABC

>~ 00 01 11 10
0 11 I
1 115 17 °

AUl JSEL WA 16 oS82t A B, C, D il ysie g ) 3 Cag S cillabada -3

5L 00 01 11 10
00

ABCD °| ABCD ' | ABcDp ° | ABcD *

oL .

ABCD ° | ABCD " | ABCD °©

11 _ _ _
21 aBCD ¥ | ABcD ¥ | ABCD *

10 BCD 8| ABCD ° | ABcD | ABcD ™

Example 10:- Represent The Following Function Using Karnaugh Map

F=Y{0,1510,11)} F=ABCD + ABCD + ABCD + ABCD + ABCD




[ : |
a2 00 01 11 10
Oo 1 0 1 1 3 2
01 4 1 5 7 6
11 12 13 15 14
10 8 9 1 11 1 10
- LUl o gl it M gudaily S gl Boadit (4 g LS Cilbabaio adiic -; 4fiaSla
L O ptial) a8 cus g o ol LS Bhasas AN fiiad -]
(AL e o gliiall jadal ol b pde da) gl o s gind il 5 gladiall AN (ha dliie O eSi -2
e (21 41 81 ) lj)ﬁj/d"
A Gag Sglate LB 4 o pging odl 2 LYK 8 o (o sing od) (liiall CpeSD ¥yl Jaii -3
LOBR2 e
8 O b e slhia (o JSY LT Of (Sas daly o o giad ) s gl LS - dbiadla
. s ptlicy altafg Lo g ging gl Gl ial)
2
0 1 3
L 1 1 1 1 J
4 5 7 °
1 12 1 13 15 14
\[ J_ O l 9 1 1 l ]10
Example 11:- Simplify The Following Function Using Karnaugh Map:-
F={0,2,8,9,10,11,12,13,14,15}
2
0 1 3
1 1
4 5 7 °
[ 1 12 1 - 1 1 1
k 1 8 1 9 1 11 1 ﬂ
Lo |




e i 1
A JSy Do) (155 5
A B C D A B C D
1 1 0 O O 0 0 O
1 1 0 1 O 0 1 O
1 1 1 1 1 0 0 O
1 1 1 O 1 0 1 0
1 0 0 1 BD
1 01 1
1 0 0 O
1 01 0
A
F=A+BD
Example 12:- Simplify The Following Function Using Karnaugh Map:-
F=>{0,1,2,3,8,9, 10,11, 12, 14}
0 1 3
[ 1 1 1 1 ZJ
4 5 7 °
1 12 13 15 1 14
[ 1 8 9 1 " 1 ] 10
A B C D A B C D
0O 00 O 1 1 0 0
0 0 0 1 1 0 0 O
0 01 1 1 1 1 O
0 01 O 1 0 1 O
1 0 0 O AD
1 0 0 1
1 01 O
1 01 1
B
F =B+ AD
Examplel3:- Simplify using karnaugh map a logic circuit of 4-input A,B,C
and D, the output will be (1) when (D=0 ).
Examplel4:- simplify using karnaugh map a logic circuit of 4-input A,B,C
and D, the output will be (1) when (AB+D=1).
L ol




(Al ) 5 paslaal)) Abrio avaai
Combinational Logic Circuit 4w Jf Lolaadf il g4lf

; -2 (Adder) gt -1
~t Ol (55 300 Al 5 il Gadd ) G gendl dilae ¢ al o i djalaie il 93 o g

- (Half Adder) S« roladf 5 s -/
e O (AU aea dlae o) jaly o 58 Agalaie B iy A

H.A
—B—] G

e oaldll iy C 5 gl 20 Jiar S 5 Lagran o sllaall LA L )l s A) B o) &
-l Aagall Jgan (LS panll dlee

A B S C
0 0 0 0
0 1 1 0
1 0 1 0
1 1 0 1
S =AB + AB
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S =ABC + ABC + ABC + ABC
S =A(BC+ BC) + A(BC + AC)
S=A(BaC) + A(BaC)

S=A@BaC

Cout = ABC + ABC + ABC + ABC
Cout = C(AB + AB) + AB(C + ()

Cout = (A®B) + AB
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D = ABC + ABC + ABC + ABC
D =A(BC +BC) + A(BC + BC)
D = A(B&C) + A(B&C)

D = A®(BaC)
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Bout = ABC + ABC + ABC + ABC
B,y = A(BC+ BC)+BC(A+ A)
B, = A(B®C) + BC
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4- Decoder and Encoder
a- Decoder

A

B Decoder
A|B | Xo X1 | Xy | X3
0/0 (1 |0 (0 |0
o/1 (0 |1 (0 |O
1/0 (0 |0 |1 |0
1/1 (0 |0 |0 |1

X1

X2
X3
X4

F1=AB + AB
Fl1=A®B
F2 = AB
F3 = AB

IF n=1 ——>>2

Output line

n=2 —4 Output line
n=3 ——8 Output line

———> Out put 2"

Example 1: Designing a 2-4 line Decoder
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Example 2: Designing a 3-8 line Decoder

b-Encoder

input 2"———>

wSe  Decoder

C———= Out put n

2 —»1
4 —» 2

8 —»3

16 —4

line decoder
line decoder
line decoder
line decoder




Example 3: Designing a 4-2 line Encoder

A — Xq
B —1 Encoder

C— X
D 1
AlB |[C |D | X, |X;
110 |0 |0 |0 |O

0O/1 (0 |0 (0 |1

0O/0 |1 |0 |1 |O

0O/0 |0 |1 |1 |1

5 — Multiplexers ( Data Selectors)

1223l Inputs ) o3 (e (gl JLEA) &4 g [nputs Bae (e 3a) 5 Qutput JLiab a8 Al 3 pAlall a

Do
D, Multiplexer output
D,
Ds
So S
So Sl Do D1 D2 D3
Oo|0|1|0]0]0O0
o|1,0(212]0]0
1/0|0|0|11|0
110|001
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